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» GlAIL

{

int main{ )

int
int
int
int
int

resultil

result2
result3
result4d
results
resulti

printf{"”
printf{"”
printf{”
printfd”
printf{"”
printf{"”

numl
numz
num3=
numd
resultil,

Xinclude =stdio.h=>

= 15:
= 20:
40:;
= B60:

resultz,

(numl==num?2 ):

(numl==num?2 ):
Cnuml=num2 ):
Cnum3<=num4d4 }:
(numd=num3 }:

Cnum3!'=numd ):

resulti:
resul tz:
result3:
result4d:
results:
resultiG:

return 0:

zd
zd
zd
zd
Zd
zd

T
S
S
Wwn",
wWno,
wWno,

results3,

SAnum1 2F
AAnum1 0]
AAnum1 0]
AAnum3 =2}
SAnumd =2}
AAnum1 2F

resultl )
result2):
result3):;
resultd):
results):
resul t6 ):

result4,

results. resulti:
num2?F & CH.

num2 2CF 3BHLE &Ct.
numz S C+ 3 CH.
numd?}F =SFHLE &CH.
num3?F 8C+ 3 CH.
num2?F & =27




» Gl AI2

ginclude <stdio.h>

int main()

{
int nunt = 15
int num2 = 20,

int resultl, result2, resultd;

result! = (numl==15 & num2==20);
result2 = (nun1<20 |1 nun2=20);
resultd = (!numi);

printf(“result!: &d #n", result1);
printf("result2: %d #n", result2);
printf(“resultd: ¥d #n", resultd);
return 0,
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» GIAI3

finclude <stdio.h=

int main{)

{
char ch = 9
int num = 1200,

double dnum = 5.1234;

printf("H 4 ch2l 37|: &d ¥n", sizeof(ch)); HHAE B0l 37|18 BEH5D
printf( "4 numel 27| ¥d #n", sizeof(num));

printf("® % dnum2l 37|: Id #n", sizeof(dnum));

printf("® % char? 37|: %d #n", sizeof(char));

printf("H 4 int2 37| %d #n", sizeof(int))

printf("#8 <% long2 37| Id #n", sizeof(long)).

printf("®1 4 long long2l 37| %d #n", sizeof(long long)).

printf( "8 floatel 37|: &d #n", sizeof(float));

printf("H 4+ double2] 37| %d #n", sizeof(double)),

return 0
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Putchar / Getchar

» Gl Al4

#include<stdio.h>

int main()

1
int chl, ch2;

chl
ch2

getchar();
feetc(stdin);

putchari{chl};
fputc({ch2, stdout);
return 8;




EOF

Odl IS

#include<stdio.h>

S
FOF= End of File®| UXE=W, I
S, TE=0 EEoM O oy =
Hx

int main()

1

int ch;

while(1)
1
ch = getchar();
if(ch==E0F)
break;|
putchar({ch);
b

return 8;
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